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1. Which hormone is synthesized in the ripened
seed of a plant?
Ans: Gibberellin

Î¬◊øæÀı˛ ¬Ûøı˛¬Û$¬ ıœÀÊ Œfl¬±Ú ˝ı˛À˜±ÚøÈ¬ ¸—À˙vø¯Ó¬
˝ ˛̊∑
Ans: øÊıT±Àı˛ø˘Ú

2. In human body which hormone is secreted
from  (alfa) cell of pancreas?
Ans: Glucagon

˜±ÚıÀÀ˝ ’¢ü…±˙À˚˛ı˛ ’±˘Ù¬± Œfl¬±˙ ŒÔÀfl¬ Œfl¬±Ú
˝ı˛À˜±ÚøÈ¬ øÚ–¸‘Ó¬ ˝˚˛∑
Ans: ¢≠≈fl¬±·Ú

3. Which portion of human brain maintains
the body balance?
Ans: Cerebellum

˜±Úı ˜øô¶À©®ı˛ Œfl¬±Ú ’—˙ ŒÀ˝ı˛ ˆ¬±ı˛¸±˜… øÚ˚˛LaÌ
fl¬Àı˛∑
Ans: ˘‚≈˜øô¶©®

4. How many sex chromosomes are there in
every human cell?
Ans: 2

˜±Ú≈À¯ı˛ õ∂øÓ¬øÈ¬ Œ˝Àfl¬±À˙ fl¬Ó¬&ø˘ Œ¸' ŒSê±À˜±ÀÊ±˜
Ô±Àfl¬∑
Ans: 2 øÈ¬

5. Which Scientist invented the law of use and
disuse of organs?
Ans: Lamarck

’Àºı˛ ı…ı˝±ı˛ › ’ı…ı˝±Àı˛ı˛ ¸”SøÈ¬ Œfl¬±Ú
Δı:±øÚÀfl¬ı˛ õ∂ıøÓ«¬Ó¬ ˜Ó¬ı±∑
Ans: ˘…±˜±fl«¬

6. The Headquarters of UNESCO is located at
Ans: Paris

˝◊Î¬◊ÀÚ¸Àfl¬±ı˛ ¸ı˛ Ù¬Ó¬ı˛ Œfl¬±Ô±˚˛ ’ıø¶öÓ¬∑
Ans: ¬Û…±øı˛¸
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7. How many members are there in United
Nations’ Security Council?
Ans: 15

ı˛±©Üò¬Û≈À?ı˛ øÚı˛±¬ÛM± ¬Ûøı˛¯À ̧ ı«À˜±È¬ fl¬Ó¬ÊÚ ̧ ¸…
Ô±Àfl¬∑
Ans: 15

8. In 1967 who of the following was designated
as Deputy Prime Minister?
Ans: Morarji Desai

1967 ¸±À˘ øÚ•ßø˘ø‡ÀÓ¬ı˛ ˜ÀÒ… Œfl¬±Ú ı…øMê
Î¬◊¬Û-õ∂Ò±Ú˜Laœ øÚı«±ø‰¬Ó¬ ˝Ú∑
Ans: Œ˜±ı˛±ı˛øÊ Œ˙±˝◊

9. A Money Bill, after being passed in
Lok Sabha is transmitted to Rajya Sabha. Within
how many days it will have to be returned to
Lok Sabha?
Ans: 14

 Œ˘±fl¬¸ˆ¬±˚˛ ¬Û±˙ ˝›˚˛±ı˛ ¬Ûı˛ ¤fl¬øÈ¬ ’Ô«øı˘
ı˛±Ê…¸ˆ¬± ˛̊ Œõ∂øı˛Ó¬ ̋ › ˛̊±ı˛ fl¬Ó¬ øÀÚı˛ ̃ ÀÒ… ’±ı±ı˛ Œ˘±fl¬¸ˆ¬± ˛̊
ŒÙ¬ı˛Ó¬ ¬Û±Í¬±ÀÓ¬ ˝˚˛∑
Ans: 14

10. As per provision of which writ a higher
court can compel a lower court or a person to
perform his duty?
Ans: Mandamus

Œfl¬±Ú øı˛È¬ ’Ú≈˚±˚˛œ ÿÒT«Ó¬Ú Œfl¬±È«¬ Œfl¬±ÀÚ± øÚ•ß Œfl¬±È«¬
ı± Œfl¬±ÀÚ± ı…øMêÀfl¬ Ó¬±ı˛ fl¬Ó«¬ı… ¬Û±˘ÀÚ ı±Ò… fl¬ı˛ÀÓ¬ ¬Û±Àı˛∑
Ans: ˜…±`¬±˜±¸

11. Who wrote ‘Ramacharit’?
Ans: Sandhyakar Nandi

ëı˛±˜‰¬øı˛Ó¬í ¤ı˛ ı˛‰¬ø˚˛Ó¬± Œfl¬∑
Ans: ¸g¬…±fl¬ı˛ Újœ

12. The compilation of preachings of Mahavir
is known as
Ans: Siddhanta

˜˝±ıœÀı˛ı˛ Î¬◊¬ÛÀÀ˙ı˛ ¸—fl¬˘Ú fl¬œ Ú±À˜ ‡…±Ó¬∑
Ans: ø¸X¬±ôL
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13. Out of Sixteen Mahajanapadas, which one
of the following was located in southern India?
Ans: Asmaka

Œ¯±h¬˙ ˜˝±ÊÚ¬ÛÀı˛ ˜ÀÒ… øé¬Ì ˆ¬±ı˛ÀÓ¬ ’ıø¶öÓ¬
˜˝±ÊÚ¬ÛøÈ¬ı˛ Ú±˜ fl¬œ∑
Ans: ’¶úfl¬

14. Attila was the leader of which community?
Ans: Hoon

¤øÈ¬˘± (Attila) Œfl¬±Ú ¸•x±À˚˛ı˛ ŒÚÓ¬± øÂÀ˘Ú∑
Ans: ˝”Ì

15. Which traveller came to India during the
reign of Chandragupta-II?
Ans: Fa Hiyen

øZÓ¬œ ˛̊ ‰¬f&Àlı˛ ı˛±ÊQfl¬±À˘ Œfl¬±Ú ¬Ûøı˛ıË±Êfl¬ ̂ ¬±ı˛ÀÓ¬
’±À¸Ú∑
Ans: Ù¬± ø˝À˚˛Ú

16. In which year Cripps Mission came to India?
Ans: 1942

øSê¬Û¸ƒ ø˜˙Ú fl¬Ó¬ ¸±À˘ ˆ¬±ı˛Ó¬ıÀ¯« ¤À¸øÂ˘∑
Ans: 1942

17. In which place Annie Besant established
Home Rule League?
Ans: Madras

’…±øÚ Œı¸±ôL Œfl¬±Ú ¶ö±ÀÚ Œ˝±˜è˘ ø˘· õ∂øÓ¬á¬±
fl¬Àı˛Ú∑
Ans: ˜±^±Ê

18. Who founded Satyasodhak Samaj?
Ans: Jyotiba Phule

¸Ó¬…À˙±Òfl¬ ¸˜±Ê Œfl¬ √õ∂øÓ¬á¬± fl¬Àı˛øÂÀ˘Ú∑
Ans: ŒÊ…±øÓ¬ı± Ù≈¬À˘



RB/SI/KP/Prel/2023 ( 6 )

19. Who represented Indian National Congress
in Second Round Table Conference?
Ans: Mahatma Gandhi

øZÓ¬œ ˛̊ Œ·±˘ÀÈ¬øı˘ ΔıÍ¬Àfl¬ ̂ ¬±ı˛Ó¬œ ˛̊ Ê±Ó¬œ ˛̊ fl¬—À·ËÀ¸ı˛
˝À˚˛ Œfl¬ √õ∂øÓ¬øÚøÒQ fl¬Àı˛Ú∑
Ans: ˜˝±R± ·±g¬œ

20. Ilbert Bill was related with which of the
following?
Ans: Judicial System

˝◊˘ı±È«¬ øı˘ Œfl¬±Ú øı¯∏À˚˛ı˛ ¸Àº ¸•Ûøfl«¬Ó¬ øÂ˘∑
Ans: øı‰¬±ı˛ ı…ı¶ö±

21. Brass is an alloy of which metals?
Ans: Copper & Zinc

ø¬ÛÓ¬˘ Œfl¬±Ú Ò±Ó≈¬ Z±ı˛± √õ∂dÓ¬ ¤fl¬øÈ¬ ¸—fl¬ı˛ Ò±Ó≈¬∑
Ans: Ó¬±˜± › ô¶±

22. Which of the following is not an ore of
Aluminium?
Ans: Dolomite

ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ’…± ≈̆ø˜øÚ˚˛±À˜ı˛ ¤fl¬øÈ¬ ’±fl¬øı˛fl¬ Ú˚˛∑
Ans: Î¬À˘±˜± ◊̋È¬

23. Which of the following acid is regarded as
Aqua Fortis?
Ans: Nitric Acid

Œfl¬±Ú ’…±ø¸Î¬Àfl¬ ’…±Àfl¬±˚˛± Ù¬øÈ¬«¸ Ú±À˜ ’øˆ¬ø˝Ó¬ fl¬ı˛±
˝ ˛̊∑
Ans: Ú±˝◊øÈ¬™fl¬ ’…±ø¸Î¬

24. Which of the following scientists explained
the structure of atom with the help of Quantum
Theory?
Ans: Niels Bohr

ÚœÀ‰¬ı˛ Œfl¬±Ú Δı:±øÚfl¬ Œfl¬±˚˛±KÈ¬±˜ Ó¬ÀMWı˛ ¸±˝±À˚…
¬Ûı˛˜±Ì≈ı˛ ·Í¬Ú ı…±‡…± fl¬Àı˛Ú∑
Ans: øÚ˘¸ƒ Œı±ı˛
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25. Hertz is an unit of
Ans: Frequency

˝±»«Ê ïHertzó fl¬œÀ¸ı˛ ¤fl¬fl¬∑
Ans: fl¬•Û±Ç¬íı˛

26. In respect of which of the following, when
converted into solid from liquid, its volume does
not increase?
Ans: Aluminium

ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ı˛ Œé¬ÀS Ó¬ı˛˘ ’ı¶ö± ŒÔÀfl¬ fl¬øÍ¬ÀÚ
¬Ûøı˛ÌÓ¬ ˝À˘ ¬Û±Ô«øÈ¬ı˛ ’±˚˛Ó¬Ú ŒıÀh¬ ˚±˚˛ Ú±∑
Ans: ’…±˘≈ø˜øÚ˚˛±˜

27. While lifting anything with the help of the
hand, the hand performs as which class of Lever?
Ans: 3rd

˝±ÀÓ¬ı˛ ̧ ±˝±À˚… Œfl¬±ÀÚ± ıd ŒÓ¬±˘±ı˛ ̧ ˜˚˛ ̋ ±Ó¬ Œfl¬±Ú
Œ|øÌı˛ ø˘ˆ¬±ı˛ ı˛+À¬Û fl¬±Ê fl¬Àı˛∑
Ans: Ó‘¬Ó¬œ˚˛

28. Mirage is an example of which of the
following?
Ans: Total internal reflection

˜ı˛œø‰¬fl¬± øÚÀ•ß±Mê Œfl¬±ÚøÈ¬ı˛ Î¬◊±˝ı˛Ì∑
Ans: ’ˆ¬…ôLı˛œÌ ¬Û”Ì« õ∂øÓ¬Ù¬˘Ú

29. In standard temperature and pressure which
of the following is not an amorphous?
Ans: Common Salt

¸±Ò±ı˛Ì ‰¬±¬Û › Ó¬±¬Û˜±S± ˛̊ ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ’øÚ ˛̊Ó¬±fl¬±ı˛
Ú ˛̊∑
Ans: ¸±Ò±ı˛Ì ˘ıÌ

30. Which of the following smells like rotten
fish?
Ans: Phosphine

ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ı˛ ·g¬ ¬Û‰¬± ˜±ÀÂı˛ ˜Ó¬∑
Ans: Ù¬¸øÙ¬Ú
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31. Name the acid present in the sting of an ant.
Ans: Formic acid

¬ø¬Û“¬ÛÀh¬ı˛ UÀ˘ı˛ ̃ ÀÒ… ÚœÀ‰¬ı˛ Œfl¬±Ú ’…±ø¸Î¬øÈ¬  Î¬◊¬Ûø¶öÓ¬
Ô±Àfl¬∑
Ans: Ù¬ı˛ø˜fl¬ ’…±ø¸Î¬

32. Kanha National Park is located in which
State?
Ans: Madhya Pradesh

fl¬±Ú˝± Ú…±˙Ú±˘ ¬Û±fl«¬ Œfl¬±Ú ı˛±ÀÊ… ’ıø¶öÓ¬∑
Ans: ˜Ò…õ∂À˙

33. Which of the following is not a Cricket field
of South Africa?
Ans: Wellington

ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ øé¬Ì ’±øÙË¬fl¬±ı˛ ¤fl¬øÈ¬ øSêÀfl¬È¬ Œ‡˘±ı˛
˜±Í¬ Ú˚˛∑
Ans: ›À˚˛ø˘—È¬Ú

34. The country Madagascar is situated in which
continent?
Ans: Africa

˜±±·±¸fl¬±ı˛ Œ˙øÈ¬ Œfl¬±Ú ˜˝±ÀÀ˙ ’ıø¶öÓ¬∑
Ans: ’±øÙË¬fl¬±

35. The tourist spot Daringbari is situated in
which State?
Ans: Odisha

±øı˛—ı±øı˛ ¬Û˚«È¬Ú¶ö˘øÈ¬ Œfl¬±Ú ı˛±ÀÊ… ’ıø¶öÓ¬∑
Ans: ›øh¬˙±

36. Which one is the highest peak of Aravalli
range?
Ans: Gurusikhar

’±ı˛±ı{°œ ¬Ûı«Ó¬˜±˘±ı˛ Î¬◊B‰¬Ó¬˜ ˙‘º Œfl¬±ÚøÈ¬∑
Ans: &èø˙‡ı˛
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37. In which of the following coastal areas
winter rainfall is observed?
Ans: Coromondol Coast

ÚœÀ‰¬ı˛ Œfl¬±Ú Î¬◊¬Ûfl”¬˘ˆ¬±À· ̇ œÓ¬fl¬±˘œÚ ı‘ø©Ü¬Û±Ó¬ Œ‡ÀÓ¬
¬Û±›˚˛± ˚±˚˛∑
Ans: fl¬ı˛˜G¬˘ Î¬◊¬Ûfl”¬˘

38. Which type of soil is ideal for coffee
plantation?
Ans: Laterite Soil

fl¬øÙ¬ ‰¬±À¯ı̨ ÊÚ… øÚ•ßø˘ø‡Ó¬ Œfl¬±Ú ̃ ‘øMfl¬±øÈ¬ ̧ Àı«±»fl‘¬©Ü∑
Ans: ˘…±ÀÈ¬ı˛±˝◊È¬ ‘̃øMfl¬±

39. In the North-Eastern states of India which
type of natural vegetation are mostly observed?
Ans: Tropical Evergreen

ˆ¬±ı˛Ó¬ıÀ¯«ı˛ Î¬◊Mı˛-¬Û”Àı«ı˛ ı˛±Ê…&ø˘ÀÓ¬ Œfl¬±Ú Òı˛ÀÚı˛
¶§±ˆ¬±øıfl¬ Î¬◊øæ ¸ı«±øÒfl¬ Œ‡ÀÓ¬ ¬Û±›˚˛± ˚±˚˛∑
Ans: Sê±ôLœ˚˛ ø‰¬ı˛˝øı˛» Î¬◊øæ

40. Bailadila Iron ore mine is located in which
state?
Ans: Chhattisgarh

ı±˚˛˘±øÎ¬˘± Œ˘Ã˝-’±fl¬øı˛fl¬ ‡øÚøÈ¬ Œfl¬±Ú ı˛±ÀÊ…
’ıø¶öÓ¬∑
Ans: ÂøM˙·h¬

41. Sardar Sarovar Multi-purpose Project is
located on which river?
Ans: Narmada

¸«±ı˛ ¸Àı˛±ıı˛ ıU˜≈‡œ ¬Ûøı˛fl¬äÚ± Œfl¬±Ú Úœı˛ Î¬◊¬Ûı˛
’ıø¶öÓ¬∑
Ans: Ú˜«±

42. Rill erosion is an example of erosion caused
by which natural agent?
Ans: Waterflow

Ú±ø˘é¬˚˛ Œfl¬±Ú õ∂±fl‘¬øÓ¬fl¬ ˙øMêı˛ Z±ı˛± ¸—‚øÈ¬Ó¬
é¬˚˛fl¬±À˚«ı˛ Î¬◊±˝ı˛Ì∑
Ans: Ê˘õ∂ı±˝
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43. In which city of India for the first time Lok
Adalat was held?
Ans: New Delhi

ˆ¬±ı˛Ó¬ıÀ¯«ı˛ õ∂Ô˜ Œ˘±fl¬ ’±±˘Ó¬ Œfl¬±Ú ˙˝Àı˛
ıÀ¸øÂ˘∑
Ans: øÚÎ¬◊ øø{°

44. Who established ‘Servants of India
Society’?
Ans: Gopal Krishna Gokhale

‘Servants of India Society’-ı˛ √õ∂øÓ¬á¬±Ó¬± Œfl¬
øÂÀ˘Ú∑
Ans: Œ·±¬Û±˘fl‘¬¯û Œ·±À‡˘

45. In which year battle of Haldighat took place?
Ans: 1576

fl¬Ó¬ ¸±À˘ ˝˘ø‚±ÀÈ¬ı˛ ≈̊X¬ ˝À˚˛øÂ˘∑
Ans: 1576

46. Which enzyme converts protein into
peptone?
Ans: Pepsin

Œfl¬±Ú Î¬◊»À¸‰¬fl¬ Œ√õ∂±øÈ¬ÚÀfl¬ Œ¬Û¬ÛÀÈ¬±ÀÚ ¬Ûøı˛ÌÓ¬ fl¬Àı˛∑
Ans: Œ¬Û¬Ûø¸Ú

47. Nephridiam is the excretory organ of
Ans: Earthworm

ŒÚøÙË¬øÎ¬˚˛±˜ Œfl¬±Ú √õ∂±Ìœı˛ Œı˛‰¬Ú ’º∑
Ans: Œfl“¬À‰¬±

48. Shivaji was compelled to sign which treaty
with Mughals?
Ans: Treaty of Purandar

ø˙ı±Êœ Œ˜±·˘Àı˛ ¸±ÀÔ Œfl¬±Ú ¸øg¬ ¶§±é¬ı˛ fl¬ı˛ÀÓ¬
ı±Ò… ˝Ú∑
Ans: ¬Û≈ı˛jÀı˛ı˛ ¸øg¬
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49. Locomotion of Eugleena is done by
Ans: Flagellar

˝◊Î¬◊ø¢≠Ú± fl¬œÀ¸ı˛ ¸±˝±À˚… ·˜Ú fl¬Àı˛∑
Ans: Ùv¬…±ÀÊ˘±ı˛

50. Emmanuel Macron is the head of which
nation?
Ans: France

˝◊˜±Ú≈À˚˛˘ ˜…±fl¬ı˛“ Œfl¬±Ú ŒÀ˙ı˛ ¬ı˛±©Üò√õ∂Ò±Ú∑
Ans: ÙË¬±k

51. In a certain code BOARD is written as
53169 and NEAR is written as 2416. How is
NODE written in that code?
Ans: 2394

Œfl¬±ÀÚ± ¸±—Àfl¬øÓ¬fl¬ ˆ¬±¯±˚˛ BOARD-Œfl¬ Œ˘‡± ˝˚˛
53169 ¤ı— NEAR-Œfl¬ Œ˘‡± ˝˚˛ 2416/ ›˝◊ ¸±—Àfl¬øÓ¬fl¬
ˆ¬±¯±˚˛ NODE-Œfl¬ fl¬œ Œ˘‡± ˝Àı∑
Ans: 2394

52. What should come next in the following
sequence of letters?

B B C B C D B C D E B C D
E F B C D E F G B C D E F

Ans: G

øÚÀ•ßı˛ ıÌ«øıÚ…±À¸ı˛ ¬Ûı˛ Œfl¬±Ú ıÌ«øÈ¬ ’±¸Àı∑
B B C B C D B C D E B C D
E F B C D E F G B C D E F

Ans: G

53. In a certain code SPORADIC is written as
QNORDJEB. How is TROUBLES written in that
code?
Ans: TNQSTFMC

Œfl¬±ÀÚ± ¸±—Àfl¬øÓ¬fl¬ ˆ¬±¯±˚˛ SPORADIC-Œfl¬ Œ˘‡±
˝˚˛ QNORDJEB/ ›˝◊ ̧ ±—Àfl¬øÓ¬fl¬ ̂ ¬±¯±˚˛ TROUBLES
fl¬œˆ¬±Àı Œ˘‡± ˝Àı∑
Ans: TNQSTFMC
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54. Three of the following four are alike in a
certain  way and so form a group. Which is the one
that does not belong to that group?
Ans: Chlorine

ÚœÀ‰¬ı˛ ‰¬±ı˛øÈ¬ı˛ øÓ¬ÚøÈ¬ Œfl¬±ÀÚ± fl¬±ı˛ÀÌ ¸‘˙ ¤ı—
¤fl¬øÈ¬ Œ|øÌ ≈̂¬Mê/ Œfl¬±ÚøÈ¬ ›˝◊ Œ|øÌ ≈̂¬Mê Ú˚˛∑
Ans: Œflv¬±øı˛Ú

56. How many such pairs of letters are there in
the word GLIMPSE each of which has as many
letters between them in the word as in the English
alphabet?
Ans: 2

GLIMPSE ̇ søÈ¬ı˛ ̃ ÀÒ… fl¬Ó¬&ø˘ ¤˜Ú ŒÊ±h¬± ıÌ«
’±ÀÂ, ̇ søÈ¬ı˛ ̃ ÀÒ… Ó¬±Àı˛ ̃ ±ÀÁ¬ ̊ Ó¬&ø˘ ıÌ« ’±ÀÂ, ̋ ◊—Àı˛øÊ
ıÌ«̃ ±˘±ÀÓ¬› Ó¬± ’±ÀÂ∑
Ans: 2

57. ‘P × Q’ means ‘P’ is brother of ‘Q’.
‘P – Q’ means ‘P’ is sister of ‘Q’.
‘P + Q’ means ‘P’ is father of ‘Q’.
‘P  Q’ means ‘P’ is mother of ‘Q’.
Which of the following represents F is

daughter of W?
Ans: W R × F – T

‘P × Q’ ˜±ÀÚ ‘P’ ˝˘ ‘Q’-¤ı˛ ˆ¬± ◊̋/
‘P – Q’ ˜±ÀÚ ‘P’ ˝˘ ‘Q’-¤ı˛ Œı±Ú/
‘P + Q’ ˜±ÀÚ ‘P’ ˝˘ ‘Q’-¤ı˛ ı±ı±/
‘P  Q’ ˜±ÀÚ ‘P’ ˝˘ ‘Q’-¤ı˛ ˜±/
ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ F-Œfl¬ W-¤ı˛ fl¬Ú…± ø˝À¸Àı øÚÀ«˙

fl¬Àı˛∑
Ans: W R × F – T

55. Three of the following four are alike in a
certain way and so form a group. Which is the one
that does not belong to that group?
Ans: 159

ÚœÀ‰¬ı˛ ‰¬±ı˛øÈ¬ı˛ øÓ¬ÚøÈ¬ Œfl¬±ÀÚ± fl¬±ı˛ÀÌ ¸‘˙ ¤ı—
¤fl¬øÈ¬ Œ|øÌ ≈̂¬Mê/ Œfl¬±ÚøÈ¬ ›˝◊ Œ|øÌ ≈̂¬Mê Ú˚˛∑
Ans: 159
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58. Statements : All pens are chairs.
ïøıı‘øÓ¬ó All flowers are chairs.

All chairs are trucks.
All trees are trucks.

Conclusions : I. Some trucks are pens.
ïø¸X¬±ôLó II. Some trucks are chairs.

III. Some trees are pens.
IV. Some trees are chairs.

Which of the following conclusions are
correct based on the above statements?
Ans: Only I and II follow.

Î¬◊¬Ûøı˛Î¬◊Mê øıı‘øÓ¬ı˛ Î¬◊¬Ûı˛ øˆ¬øM fl¬Àı˛ øÚÀ•ßı˛ Œfl¬±Ú
ø¸X¬±ôL&ø˘ ¸øÍ¬fl¬∑
Ans: qÒ≈̃ ±S I ¤ı— II ˝Àı/

62. If LACK is written as 396, then BACK is
written as—

Ans: 66

˚ø LACK-Œfl¬ 396 Œ˘‡± ˝˚˛, Ó¬Àı BACK-Œfl¬
Œ˘‡± ˝Àıñ
Ans: 66

59. A number series is given with two terms
missing. What will come in place of the question
marks (?) to complete the series?

4, 6, 8, 12, 14, 18, 20, 24, 30, ?, ?
Ans: 32, 38

¤fl¬øÈ¬ ̧ —‡…±À|øÌ Œ›˚˛± ’±ÀÂ ̊ ±ÀÓ¬ ≈øÈ¬ ̧ —‡…± ŒÚ˝◊/
õ∂ùüÀı±Òfl¬ ¶ö±Ú≈øÈ¬ÀÓ¬ fl¬œ ı¸À˘ ¸—‡…±À|øÌøÈ¬ ¬Ûøı˛¬Û”Ì« ˝Àı∑

4, 6, 8, 12, 14, 18, 20, 24, 30, ?, ?
Ans: 32, 38

60. What will come in place of the ‘?’ mark?

õ∂ùüÀı±Òfl¬ ïë∑íó ¶ö±ÀÚ fl¬œ ı¸Àı∑

Ans: 7

8 6
4

?

5

6 7 10 7

61. Four positions of a cube are shown below.
Identify the number at the bottom when top is 6.

¤fl¬øÈ¬ ‚ÚÀfl¬ı˛ ‰¬±ı˛øÈ¬ ’ı¶ö±Ú øÚÀ•ß Œ›˚˛± ˝À˚˛ÀÂ/
˚‡Ú Î¬◊¬ÛÀı˛ 6 Ô±fl¬Àı Ó¬‡Ú ÚœÀ‰¬ı˛ ¸—‡…±øÈ¬ fl¬œ ˝Àı∑

Ans: 1

3

26

4

15

5

13

6

45



RB/SI/KP/Prel/2023 ( 14 )

64. M is the son of P. Q is the grand-daughter of
O who is the husband of P. How is M related to O?
Ans: Father

M, P-¤ı˛ ¬Û≈S/ Q, O-¤ı˛ Ú±Ó¬øÚ Œ˚ øfl¬Ú± P-¤ı˛
¶§±˜œ/ O-¤ı˛ ¸±ÀÔ M-¤ı˛ ¸•Ûfl«¬ fl¬œ∑
Ans: ı±ı±

63. How many triangles are there in the
following figure?

ÚœÀ‰¬ı˛ ø‰¬SøÈ¬ÀÓ¬ fl¬Ó¬&ø˘ øSˆ≈¬Ê ’±ÀÂ∑

Ans: 16

66. There are 5 books. A, B, C, D and E placed
on a table. If A is placed below E, C is placed above
D, B is placed below A and D is placed above E,
then which of the following books touches the
surface of the table?
Ans: B

A, B, C, D › E ¬Û“±‰¬øÈ¬ ı˝◊ ¤fl¬øÈ¬ ŒÈ¬øıÀ˘ ̧ ±Ê±ÀÚ±
’±ÀÂ/ ̊ ø A, E-¤ı˛ ÚœÀ‰¬, C, D-¤ı˛ Î¬◊¬ÛÀı˛, B, A-¤ı˛ ÚœÀ‰¬
¤ı— D, E-¤ı˛ Î¬◊¬ÛÀı˛ Ô±Àfl¬, Ó¬±˝À˘ Œfl¬±Ú ı˝◊øÈ¬ ŒÈ¬øı˘ ¶Û˙«
fl¬Àı˛ ’±ÀÂ∑
Ans: B

67. If ‘×’ stands for ‘+’, ‘<’  for ‘–’, ‘+’ stands
for ‘÷’, ‘>’ stands for ‘×’, ‘–’ stands for ‘=’, ‘÷’
stands for ‘>’ and ‘=’ stands for ‘<’, state which of
the following is true?
Ans: 5 > 8 + 4 = 10 < 4 × 8

˚ø ‘×’ ̃ ±ÀÚ ‘+’, ‘<’ ̃ ±ÀÚ ‘–’, ‘+’ ̃ ±ÀÚ ‘÷’, ‘>’
˜±ÀÚ ‘×’, ‘–’ ˜±ÀÚ ‘=’, ‘÷’ ˜±ÀÚ ‘>’ ¤ı— ‘=’ ˜±ÀÚ ‘<’
˝˚˛, Ó¬Àı ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ¸Ó¬…∑
Ans: 5 > 8 + 4 = 10 < 4 × 8

65. If 84 × 13 = 8, 37 × 13 = 6, 26 × 11 = 6, then
56 × 22 = ?
Ans: 7

˚ø 84 × 13 = 8, 37 × 13 = 6, 26 × 11 = 6 ̋ ˛̊,
Ó¬±˝À˘ 56 × 22 = ?

Ans: 7
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69. Find the odd one out:
Ans: Orange-Green

Œı˜±Ú±Ú ˙søÈ¬ ø‰¬ø˝êÓ¬ fl¬èÚ –
Ans: fl¬˜˘±-¸ı≈Ê

70. A man is facing towards West and turns
through 45º clockwise, again 180º clockwise and
then turns through 270º anticlockwise. In which
direction is he facing now?
Ans: South-West

¤fl¬ ı…øMê ¬Ûø}¬˜ øÀfl¬ ̃ ≈‡ fl¬Àı˛ “±øh¬À˚˛ ‚øh¬ı˛ fl¬“±È¬±ı˛
’øˆ¬˜≈À‡ 45º ‚≈ı˛À˘Ú ’±ı±ı˛ 180º ‚≈ı˛À˘Ú ¤ı— Ó¬±ı˛¬Ûı˛
‚øh¬ı˛ fl“¬±È¬±ı˛ øı¬Ûı˛œÓ¬ ’øˆ¬˜≈À‡ 270º ‚≈ı˛À˘Ú/ øÓ¬øÚ ¤‡Ú
Œfl¬±Ú øÀfl¬ ˜≈‡ fl¬Àı˛ ’±ÀÂÚ∑
Ans: øé¬Ì-¬Ûø}¬˜

68. If a mirror is placed on the line MN, then
which of the answer figures is the right image of
the given figure?

˚ø ¤fl¬øÈ¬ ¬Û«ÌÀfl¬ MN Œı˛‡± ıı˛±ıı˛ ı¸±ÀÚ± ˝˚˛,
Ó¬Àı øÚÀ•ßı˛ Œfl¬±Ú ø‰¬SøÈ¬ õ∂M ø‰¬SøÈ¬ı˛ ̧ øÍ¬fl¬ õ∂øÓ¬øı•§ ̋ Àı∑

Given figure:
õ∂M ø‰¬S –

Ans:

M

N




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72. Which letter in the word CYBERNETICS
occupies the same position as it does in the English
alphabet?
Ans: I

CYBERNETICS ̇ søÈ¬ı˛ ̃ ÀÒ…fl¬±ı˛ Œfl¬±Ú ıÌ«øÈ¬ı˛
˝◊—Àı˛øÊ ıÌ«˜±˘±ÀÓ¬ Ó¬±ı˛ Œ˚ ’ı¶ö±Ú, ˙søÈ¬ı˛ ˜ÀÒ…› ¤fl¬˝◊
’ı¶ö±Ú∑
Ans: I

73. If the English alphabet series is written in
the reverse order, which will be the fifth letter to
the left of the ninth letter from the right?
Ans: N

˚ø ˝◊—Àı˛øÊ ıÌ«˜±˘±Àfl¬ Î¬◊Àå¬±øfl¬ øÀ˚˛ Œ˘‡± ˝˚˛,
Ó¬±˝À˘ Œfl¬±Ú ıÌ«øÈ¬ Î¬±Úøfl¬ ŒÔÀfl¬ Úı˜ ıÀÌ«ı˛ ı±˜øÀfl¬ı˛
¬Û=¬˜ ıÌ« ˝Àı∑
Ans: N

71. Which of the following will come in the last
in a telephone directory?
Ans: Mohinder

ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ¤fl¬øÈ¬ ŒÈ¬ø˘ÀÙ¬±Ú Î¬±˝◊Àı˛fl¬È¬øı˛ÀÓ¬
¸ı«À˙À¯ Ô±fl¬Àı∑
Ans: Mohinder

74. Which of the following figures will replace
the ‘?’ mark to continue the pattern?

ÚœÀ‰¬ı˛ Œfl¬±Ú ø‰¬SøÈ¬ õ∂ùüÀı±Òfl¬ ïë∑íó ¶ö±ÀÚ ı¸À˘
ø‰¬S&ø˘ı˛ Úfl¬˙± ïpatternó ıÊ±˚˛ Ô±fl¬Àı∑

1 2 3 4 5 6

Ans:

?

 

 



~
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77. Find out the least perfect square which is
divisible by 21, 36 and 66.
Ans: 213444

é≈¬^Ó¬˜ ¬Û”Ì«ı·« ̧ —‡…± øÚÌ«˚˛ fl¬èÚ, ̊ ± ̊ Ô±SêÀ˜ 21,
36 › 66 Z±ı˛± øıˆ¬±Ê…/
Ans: 213444

78. Simplify :

1 5 2 4
12 10 7 1

3 6 3 7
  

Ans:
13

13
14

¸ı˛˘Ó¬˜ ˜±Ú øÚÌ«˚˛ fl¬èÚ–

1 5 2 4
12 10 7 1

3 6 3 7
  

Ans:
13

13
14

76. To leave the same remainder, 123, 178 and
244 shall be divided by which greatest number?
Ans: 11

Œfl¬±Ú ı‘˝M˜ ¸—‡…± Z±ı˛± 123, 178 ¤ı— 244-Œfl¬
ˆ¬±· fl¬ı˛À˘, √õ∂øÓ¬Àé¬ÀS ¤fl¬˝◊ ˆ¬±·À˙¯∏ Ô±fl¬Àı∑
Ans: 11

75. Find the missing number:

≈̆l ¸—‡…±øÈ¬ øÚÌ«˚˛ fl¬èÚ –

Ans: 5

13? 49

179 69

1113 59
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80. A student saves ̀ 1 first day, ̀  2 on second
day, ̀  4 on 3rd day, ̀  8 on 4th day and so on. What
shall be his total savings in 12 days (in `)?
Ans: 4095

¤fl¬ Â±S √õ∂Ô˜ øÀÚ 1 È¬±fl¬±, øZÓ¬œ˚˛ øÀÚ 2 È¬±fl¬±,
Ó‘¬Ó¬œ˚˛ øÀÚ 4 È¬±fl¬±, ‰¬Ó≈¬Ô« øÀÚ 8 È¬±fl¬±, ¤˝◊ˆ¬±Àı ̧ =¡˚˛ fl¬ı˛ÀÓ¬
qè fl¬Àı˛/ 12 øÀÚ Œ¸ Œ˜±È¬ fl¬Ó¬ È¬±fl¬± ̧ =¡˚˛ fl¬ı˛ÀÓ¬ ¬Û±ı˛Àı∑
Ans: 4095

81. Two numbers are in the ratio 3 : 5. If 10 is
added with both the numbers, the ratio becomes
5 : 7. What is the sum of two numbers?
Ans: 40

≈øÈ¬ ̧ —‡…±ı˛ ’Ú≈¬Û±Ó¬ 3 : 5/ √õ∂øÓ¬øÈ¬ı˛ ̧ Àº 10 Œ˚±·
fl¬ı˛± ̋ À˘, ÚÓ≈¬Ú ̧ —‡…± ≈øÈ¬ı˛ ’Ú≈¬Û±Ó¬ ̋ ˚˛ 5 : 7/ ̧ —‡…± ≈øÈ¬ı˛
¸˜ø©Ü fl¬Ó¬∑
Ans: 40

82. ` 9,195 is distributed among A, B and C in
such a way that if ̀  45, ̀  60 and ̀  90 respectively
are deducted from the sum they received, the ratio
of money received by A, B and C becomes 2 : 3 : 4.
What is the amount received by B? (in `)
Ans: 3,060

9,195 È¬±fl¬± A, B › C-¤ı˛ ˜ÀÒ… ¤˜Úˆ¬±Àı ˆ¬±·
fl¬ı˛± ˝˘ ˚±ÀÓ¬ Ó¬±Àı˛ √õ∂±l È¬±fl¬± ŒÔÀfl¬ ˚Ô±SêÀ˜ 45 È¬±fl¬±,
60 È¬±fl¬± › 90 È¬±fl¬± øÚÀ˚˛ øÚÀ˘, ı±øfl¬ È¬±fl¬±ı˛ ’Ú≈¬Û±Ó¬
2 : 3 : 4 ˝˚˛/  B fl¬Ó¬ È¬±fl¬± Œ¬ÛÀ˚˛øÂ˘∑
Ans: 3,060

79. The sum of marks obtained by Arun in
English and Mathematics is 170 and the difference
is 10. What is the ratio of marks obtained by Arun
in English and Mathematics?
Ans: 9 : 8

’èÀÌı˛ ̋ ◊—Àı˛øÊ › ’ÀÇ¬ı˛ √õ∂±l Ú•§Àı˛ı˛ ̧ ˜ø©Ü 170
¤ı— Ú•§Àı˛ı˛ ¬Û±Ô«fl¬… 10/ ˝◊—Àı˛øÊ › ’ÀÇ¬ √õ∂±l Ú•§Àı˛ı˛
’Ú≈¬Û±Ó¬ fl¬Ó¬∑
Ans: 9 : 8
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84. On 1st January A and B started a business
investing ` 40,000 and ` 60,000 respectively. On
1st March, A invested ` 20,000 more and on 1st
June B withdraws ̀  10,000. If till 31st December,
they yielded a profit of ̀  33,250, what shall be the
share of B (in `)?
Ans: 16,250

1 Ê±Ú≈˚˛±øı˛ A ¤ı— B ˚Ô±SêÀ˜ 40,000 È¬±fl¬± ›
60,000 È¬±fl¬± øıøÚÀ˚˛±· fl¬Àı˛ ¤fl¬øÈ¬ ı…±ı¸± ’±ı˛y¬ fl¬Àı˛/
1 ˜±‰«¬  A ’±ı˛› 20,000 È¬±fl¬± øıøÚÀ˚˛±· fl¬Àı˛ øfl¬c 1 Ê≈Ú
B 10,000 È¬±fl¬± Ó≈¬À˘ ŒÚ˚˛/ 31 Œ˙ øÎ¬À¸•§ı˛ ¬Û˚«ôL√ 33,250
È¬±fl¬± ˘±ˆ¬ ˝À˘, B fl¬Ó¬ È¬±fl¬± ¬Û±Àı∑
Ans: 16,250

85. In a School, average age of 10 students is
10·3 years. Out of them average age of 3 students
is 12 years and average age of 5 students is 9 years.
What is the average age of remaining 2 students (in
year)?
Ans: 11

¤fl¬øÈ¬ øı…±˘À˚˛ 10 ÊÚ Â±ÀSı˛ ·h¬ ı˚˛¸
10·3 ıÂı˛/ ¤Àı˛ ̃ ÀÒ… 3 √ÊÀÚı˛ ·h¬ ı˚˛¸ 12 ıÂı˛ ¤ı— ’Ú…
5 ÊÀÚı˛ ·h¬ ı˚˛¸ 9 ıÂı˛ ̋ À˘, ı±øfl¬ ≈ÊÀÚı˛ ·h¬ ı˚˛¸ fl¬Ó¬
ıÂı˛∑
Ans: 11

86. A’s capacity to complete a work is thrice
that of B. A completes the work 20 days prior to B.
In how many days they can complete the work, if
they work together?

Ans:
1

7
2

A, B-¤ı˛ 3 &Ì fl¬˜«é¬˜ ¤ı— ¤fl¬øÈ¬ fl¬±Ê A, B-¤ı˛
20 øÚ ’±À· Œ˙¯∏ fl¬Àı˛/ Ó¬±ı˛± ¤fl¬ÀS fl¬±ÊøÈ¬ fl¬Ó¬ øÀÚ Œ˙¯∏
fl¬ı˛Àı∑

Ans:
1

7
2

83. In a clock, when it is 6, the bell tolls 6 times
and takes 10 seconds. In the same, how many
seconds will be required, if at 12, the bell tolls 12
times?
Ans: 22

¤fl¬øÈ¬ ‚øh¬ÀÓ¬ 6 È¬± ı±Ê±ı˛ ¸˜˚˛ 6 øÈ¬ ‚∞I◊± ¬Ûh¬ÀÓ¬
10 Œ¸Àfl¬`¬ ¸˜˚˛ ˘±À·/ ›˝◊ ‚øh¬ÀÓ¬ 12 È¬± ı±Ê±ı˛ ¸˜˚˛,
12 øÈ¬ ‚∞I◊± ¬Ûh¬ÀÓ¬ fl¬Ó¬ Œ¸Àfl¬`¬ ¸˜˚˛ ˘±·Àı∑
Ans: 22
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89. A train was moving at a speed of 45 km/hr.
It takes 18 seconds to cross a person coming from
opposite side at a speed of 5 km/hr What is the
length of the train (in metre)?
Ans: 250

¤fl¬øÈ¬ ŒCÚ 45 øfl¬ø˜ì‚∞È¬± ŒıÀ· ‰¬À˘ÀÂ/ øı¬Ûı˛œÓ¬
øfl¬ ŒÔÀfl¬ 5 øfl¬ø˜ì‚∞È¬± ŒıÀ· ¤ø·À˚˛ ’±¸± ¤fl¬ ı…øMêÀfl¬
ŒCÚøÈ¬ 18 Œ¸Àfl¬À`¬ ’øÓ¬Sê˜ fl¬Àı˛/ ŒCÚøÈ¬ı˛ Δ‚«… fl¬Ó¬ ø˜È¬±ı˛∑
Ans: 250

88. A and B were moving in cycles in same
direction at a speed of 8 metres/sec and
5 metres/sec respectively. At a given time B was
180 metres ahead of A. In next 70 seconds what
shall be the distance between them (in metre)?
Ans: 30

A ¤ı— B ̧ ± ◊̋Àfl¬À˘ Œ‰¬À¬Û ̊ Ô±SêÀ˜ 8 ø˜È¬±ı˛ìŒ¸Àfl¬`¬
› 5 ø˜È¬±ı˛ìŒ¸Àfl¬`¬ ŒıÀ· ¤fl¬˝◊ ’øˆ¬˜≈À‡ ·øÓ¬˙œ˘/ Œfl¬±ÀÚ±
¤fl¬ ¸˜À ˛̊ B, A-¤ı˛ ŒÔÀfl¬ 180 ø˜È¬±ı˛ ¤ø·À˚˛ øÂÀ˘±/
¬Ûı˛ıÓ¬π 70 Œ¸Àfl¬`¬ ¬Ûı˛ Ó¬±Àı˛ ̃ ÀÒ… ”ı˛Q fl¬Ó¬ ø˜È¬±ı˛ ̋ Àı∑
Ans: 30

90. A, B and C are three ferry ghat located on
the same bank of a river and B is located just at the
mid point of A and C. The current flows from C to
A. A boat takes 6 hrs and 20 mins to return to A,
starting from A and touching B. The same boat
takes 8 hrs to reach C from A. How much time it
would take to come to A from C?
Ans: 4 hrs 40 mins

A, B ¤ı— C ¤fl¬øÈ¬ Úœı˛ ¤fl¬˝◊ Ó¬œÀı˛ ’ıø¶öÓ¬ øÓ¬ÚøÈ¬
‚±È¬ ¤ı— B ‚±È¬øÈ¬ A › C-¤ı˛ øÍ¬fl¬ ̃ ±Á¬‡±ÀÚ ’ıø¶öÓ¬/ Úœı˛
Œ¶⁄±Ó¬ C ŒÔÀfl¬ A-¤ı˛ øÀfl¬/ ¤fl¬øÈ¬ ŒÚÃfl¬± A ŒÔÀfl¬ B ¬Û˚«ôL
ø·À˚˛ ’±ı±ı˛ A ŒÓ¬ øÙ¬Àı˛ ’±¸ÀÓ¬ 6 ‚∞È¬± 20 ø˜øÚÈ¬ ̧ ˜˚˛ ŒÚ˚˛/
ŒÚÃfl¬±øÈ¬ A ŒÔÀfl¬ C ¬Û˚«ôL Œ˚ÀÓ¬ 8 ‚∞È¬± ̧ ˜˚˛ ŒÚ˚˛/ C ŒÔÀfl¬
A-ŒÓ¬ øÙ¬ı˛ÀÓ¬ ŒÚÃfl¬±øÈ¬ı˛ fl¬Ó¬ ¸˜˚˛ ˘±·Àı∑
Ans: 4 ‚∞È¬± 40 ø˜øÚÈ¬

87. The capacity of pipe A is thrice that of pipe
B. The time taken by pipe A to fill in the tank is
16 minutes less than the time taken by B to do the
same. If both the pipes A and B work together, in
how many minutes the tank will be filled in?
Ans: 6

A Ú˘ B ÚÀ˘ı˛ 3 &Ì é¬˜Ó¬±¸•Ûiß/ ¤fl¬øÈ¬ ‡±ø˘
Œ‰¬Ãı±B‰¬± B ÚÀ˘ı˛ Z±ı˛± ¬Û”Ì« ̋ ÀÓ¬ Œ˚ ̧ ˜˚˛ ̆ ±À·, A ÚÀ˘ı˛  Ó¬±ı˛
ŒÔÀfl¬ 16 ø˜øÚÈ fl¬˜ ¸˜˚˛ ˘±À·/ ¤fl¬ÀS ¤˝◊ ≈øÈ¬ Ú˘ Z±ı˛±
‡±ø˘ Œ‰¬Ãı±B‰¬±øÈ¬ Ê˘¬Û”Ì« ˝ÀÓ¬ fl¬Ó¬ ø˜øÚÈ¬ ¸˜˚˛ ˘±·Àı∑
Ans: 6
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92. A business man earns a profit of 25% even
selling the cloth in cost price. Then calculate while
selling 1 metre of cloth, actually he gives how
many cm of cloth?
Ans: 80

¤fl¬ fl¬±¬ÛÀh¬ı˛ ı…ı¸±˚˛œ Sê˚˛˜”À˘… fl¬±¬Ûh¬ øıSê˚˛
fl¬Àı˛› 25% ̆ ±ˆ¬ fl¬Àı˛/ Ó¬±˝À˘ Œ¸ 1 ø˜È¬±Àı˛ı˛ ¬Ûøı˛ıÀÓ«¬ fl¬Ó¬
Œ¸ø˜ fl¬±¬Ûh¬ Œ˚˛∑
Ans: 80

94. A person opened term deposit in the name
of his two daughters at 15% rate of interest in such
a way that when they will attain 18 years of age,
they will get ̀  38,000 each. Since his elder daughter
was 12, he kept ` 4,800 more for her than his
younger daughter. What was the amount he kept
for his younger daughter (in `)?
Ans: 15,200

¤fl¬ ı…øMê Ó¬±ı˛ ≈̋ ◊ Œ˜À˚˛ı˛ Ú±À˜ ı…±—Àfl¬ 15% ˝±Àı˛
≈øÈ¬ ¶ö±˚˛œ ’±˜±ÚÓ¬ ¤˜Úˆ¬±Àı ı˛±‡À˘Ú Œ˚ õ∂ÀÓ¬…Àfl¬ı˛ ı˚˛¸
18 ıÂı˛ ˝À˘ 38,000 È¬±fl¬± fl¬Àı˛ ¬Û±Àı/ ıÀh¬± Œ˜À˚˛ı˛ ı˚˛¸
12 ıÂı˛ ˝›˚˛±˚˛ øÓ¬øÚ Ó¬±ı˛ ÊÚ… ŒÂ±ÀÈ¬± Œ˜À˚˛ı˛ ŒÔÀfl¬
4,800 È¬±fl¬± Œıø˙ ı˛±‡À˘Ú/ ŒÂ±ÀÈ¬± Œ˜À˚˛ı˛ ÊÚ… øÓ¬øÚ fl¬Ó¬
È¬±fl¬± Œı˛À‡øÂÀ˘Ú∑
Ans: 15,200

93. A person sells a product after giving 15%
discount on marked price and earns a profit of
19%. If he would not have given any discount,
what would be his percentage of profit?
Ans: 40

¤fl¬ ı…øMê Ò±˚«˜”À˘…ı˛ ›¬Ûı˛ 15% Â±h¬ øÀ˚˛ Œfl¬±ÀÚ±
^ı… øıSê˚˛ fl¬Àı˛ 19% ˘±ˆ¬ fl¬Àı˛/ ˚ø Œfl¬±ÀÚ± Â±h¬ Ú± øÓ¬,
Ó¬±ı˛ fl¬Ó¬ ˙Ó¬±—˙ ˘±ˆ¬ ˝Ó¬∑
Ans: 40

91. In a constituency 25% of the voters
restrained from voting. Out of the total votes cast,
2% votes were found to be invaild. The candidates
who has won, got 75% of the valid votes, which is
9261. How many voters were there?
Ans: 16800

¤fl¬øÈ¬ øÚı«±‰¬Ú Œé¬ÀSı˛ 25% Œˆ¬±È¬±ı˛ Œˆ¬±È¬±ÀÚ
øıı˛Ó¬ øÂÀ˘Ú/ ˚±ı˛± Œˆ¬±È¬ øÀ˚˛ÀÂÚ Ó¬±ı˛ ˜ÀÒ… 2% Œˆ¬±È¬
ı±øÓ¬˘ ˝˚˛/ ¢∂±˝… Œˆ¬±ÀÈ¬ı˛ 75% Œˆ¬±È¬ Œ¬ÛÀ˚˛ ø˚øÚ øÚı«±ø‰¬Ó¬
˝À˚˛ÀÂÚ, øÓ¬øÚ ˚ø 9261øÈ¬ Œˆ¬±È¬ Œ¬ÛÀ˚˛ Ô±Àfl¬Ú, Ó¬Àı Œ˜±È¬
Œˆ¬±È¬±ı˛ fl¬Ó¬∑
Ans: 16800
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96. The perimeter of a rectangular field is
20 cm and its area is 24 sqcm. What is the difference
of length and breath of the field (in cm)?
Ans: 2

¤fl¬øÈ¬ ’±˚˛Ó¬Àé¬S±fl¬±ı˛ ˜±ÀÍ¬ı˛ ¬Ûøı˛¸œ˜± 20 Œ¸ø˜
¤ı— Œé¬SÙ¬˘ 24 ı·«À¸ø˜ ˝À˘, ˜±Í¬øÈ¬ı˛ Δ‚«… › õ∂À¶öı˛
¬Û±Ô«fl¬… fl¬Ó¬ Œ¸ø˜∑
Ans: 2

97. A watch gets slow by 6 minutes in every
hour. At morning 7 am, time of the watch has been
corrected with that of another watch giving genuine
time. When it will be 4 past 20 minutes original
time, what time will be shown in the faulty watch?
Ans: 3 past 24 mins

¤fl¬øÈ¬ ‚øh¬ õ∂øÓ¬ ‚∞È¬±˚˛ 6 ø˜øÚÈ¬ ø¬ÛøÂÀ˚˛ (slow)
˚± ˛̊/ ̧ fl¬±˘ 7 È¬±ı˛ ̧ ˜˚˛ ¤fl¬øÈ¬ ̧ øÍ¬fl¬ ‚øh¬ı˛ ̧ ±ÀÔ ›˝◊ ‚øh¬ı˛
¸˜˚˛ Œ˜˘±ÀÚ± ˝˘/ øıÀfl¬˘ 4 ŒÈ¬ 20 ø˜øÚÀÈ¬ı˛ ¸˜˚˛ SnøÈ¬¬Û”Ì«
‚øh¬øÈ¬ÀÓ¬ fl¬Ó¬ ¸˜˚˛ Œ‡±Àı∑
Ans: 3 ŒÈ¬ 24 ø˜øÚÈ¬

98. A person divided ` 2,000 in two parts and
kept in bank for 1 year. First part yields an interest
of 10% and the second part yields an interest of
20% and overall he receives an interest of ` 320.
What was the first part of the sum (in `)?
Ans: 800

¤fl¬ ı…øMê 2,000 È¬±fl¬± ≈øÈ¬ ’—À˙ ˆ¬±· fl¬Àı˛
1 ıÂÀı˛ı˛ ÊÚ… ı…±—Àfl¬¬ ı˛±À‡Ú/ õ∂Ô˜ › øZÓ¬œ˚˛ ’—À˙
˚Ô±SêÀ˜ 10% › 20% ̋ ±Àı˛ ̧ ≈ øÀ˘, Œ˜±ÀÈ¬ı˛ ›¬Ûı˛ Œ¸ 320
È¬±fl¬± ¸≈ ¬Û±˚˛/ õ∂Ô˜ ’—˙ fl¬Ó¬ È¬±fl¬± øÂ˘∑
Ans: 800

95. In compound interest a given sum in a year
becomes ̀  5,500 and in 3 years ̀  6,655. What was
the rate of interest?
Ans: 10

˚ø ‰¬Sêı‘øX¬ ¸≈À øfl¬Â≈ ¬Ûøı˛˜±Ì ’Ô« 1 ıÂÀı˛
5,500 È¬±fl¬± › 3 ıÂÀı˛ 6,655 È¬±fl¬± ̋ ˚˛, Ó¬Àı ̧ ≈Àı˛ ̋ ±ı˛ fl¬Ó¬
˙Ó¬±—˙ øÂ˘∑
Ans: 10
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99. There is 20 litres milk in a container. 4 litres
milk is withdrawn and substituted by 4 litres of
water. The same process is repeated again. How
many litres of milk will be left?
Ans: 12·8

¤fl¬øÈ¬ ¬Û±ÀS 20 ø˘È¬±ı˛ ≈Ò ’±ÀÂ/ ¬Û±SøÈ¬ ŒÔÀfl¬
4 ø˘È¬±ı˛ ≈Ò Ó≈¬À˘ øÚÀ˚˛ ̧ ˜¬Ûøı˛˜±Ì Ê˘ ø˜ø|Ó¬ fl¬ı˛± ̋ ˘/ ¤˝◊
¬ÛX¬øÓ¬ ’±ı˛› ¤fl¬ı±ı˛ fl¬ı˛±ı˛ ¬Ûı˛ ¬Û±ÀS ≈ÀÒı˛ ¬Ûøı˛˜±Ì fl¬Ó¬
ø˘È¬±ı˛ Ô±fl¬Àı∑
Ans: 12·8

100. What is the difference in interest yielded in
10% compound rate and simple rate on a sum of
` 1,000 for 3 years?
Ans: 31

1,000 È¬±fl¬±ı˛ 10% ̋ ±Àı˛ 3 ıÂÀı˛ı˛ ‰¬Sêı‘øX¬ › ̧ ı˛˘
¸≈Àı˛ ¬Û±Ô«fl¬… fl¬Ó¬ È¬±fl¬±∑
Ans: 31
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